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For Kerisel and Absi, the Ka values are almost equivalent to that of Coulomb’s method, but it
is slightly higher, meaning the active earth pressures will be more conservative as compared
to Coulomb’s method. On the other hand, the Kp values for Kerisel and Absi are lower than
that of Coulomb’s method. In general, this means that Kerisel and Absi method is more
conservative since it overestimates the active earth pressures and underestimates passive

earth pressures which are usually resistive for a retaining wall design.
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Note: There are two methods to estimate the net water pressure. The worked solution in
black is using a more conservative method which underestimates the factor of safety and

overestimates the force in each tie rod. The official numerical answers provided suggests
2ba

2b+a

that the net water pressure is worked by using the following formula: ( ) Yw, Which is

also worked out in blue.

Both solutions are acceptable.
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